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L=8,810m

L=8,400m

L=33,900m

L=4,240m

9.5m
0,300m°

H
V=

H=98.0m
v=3,620,000m’

L=978m

L=1,600m
6.5m( 14.0 18.5m)

-4 -
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L=843m
6.5m( 18.0 26.0m)
11
L=10,700m
W=5.0m
12
350.3ha
1
1,660m
13
345.2ha
340.0ha
14
270.8ha
270.0ha 41.2ha
15
244 .4ha
151.4ha
16
214.8ha
213.3ha 16.1ha
17
232.9ha
222.8ha 70.8ha
18
92.8ha
55.3ha
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( ) A=6,500m
-6m ( ) L=470m
20
( ) L=300m
-2m ( ) L=169m
21
( ) L=800m
-7m ( ) L=718m
22
( ) L=100m
-2m ( ) L=125m
23
( ) L=257m
-2m ( ) L=190m
24
( ) L=196m
-3m ( ) L=104m
25
( ) L=28m
-2m ( ) L=30m
26
( ) L=321m
-2m ( ) L= 65m
27
( ) L=120m
-2m ( ) L=120m
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( ) L= 30m
-1.5m ( ) L=120m
29
( ) L=730m
-3.5m V=65,000m’
30
( ) L= 40m
-2m ( ) L=272m
31
( ) A= 5,130m
-7m v=31,000m*
32
( ) L=145m
-3m ( ) L=100m
33
( ) L=190m
-2m ( ) L=135m




